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Vocabulary and Sentence Structure ZZgf145#E — Choose the best answer for each question 5758 H —{[& 57 IFFEZ 2
Thereisa ___ about an immortal creature that lives in this forest.

(A)civilization (B)reservation (C)legend (D)symptom

The students” _ to learn made the teacher very proud.

(A)bid (B)blaze (C)enthusiasm (D)flames

Jennifer was ___ when a traffic jam made her miss her flight to Hawaii.

(A)filthy (B)flourish  (C)immature (D)furious

Onceyou ___ all of the requirements of the school, you can graduate.

(A)fulfill  (B)abolish (C)reverse (D)liberate

Rita__ sends handwritten letters to her foreign friends, but she usually just sends e-mail.
(A)occasionally  (B)revolutionary (C)frequently (D)readily

My grandfatheris___, but I still have great memories of him.

(A)decreased (B)deceased (C)depressed (D)acquainted

When the patient gained __ once again, the doctor asked him many questions.
(A)promptness  (B)consciousness (C)confession (D)conflict

To expressmy _ for everything the family had done for me, | sent them some flowers.
(A)demands (B)contempt (C)frustration (D)gratitude

The police are trying to find a(n) ____ for the terrible crime.

(A)inspiration (B)motif (C)motion (D)motive

The decision to pass the new tax law isstill .

(A)galloping (B)pending (C)punishing (D)departing

People stood under asmall __ while waiting for the bus on a rainy day.

(A)shelter (B)sphere (C)sponsor (D)encounter

You will haveto __ to vote when you move to the new state.

(A)register (B)record (C)recognize (D)smash

Due to the horrendous weather, the _ was made to postpone the meeting.

(A)consequence (B)verdict (C)result (D)decision

Could you tell Sue Haig that if we __the delivery by noon we will have to cancel the order.

(A)will not have received (B)do not receive (C)were not receiving (D)had not received

Is this the candidate _ resume you forwarded to me in an e-mail?

(A)who (B)whom (C)whose (D)which

Snacks and drinks will be served, but participants are welcome to bring __ they like on the field trip.
(A)whatever (B)however (C)wherever (D)forever

Technicians employed in the aerospace industry tendto be _ skilled and very well qualified.
(A)highly (B)tightly (C)wholly (D)nearly

In the ten years that the company has been trading, we have __an excellent reputation for both quality and customer
service. (A)gained (B)granted (C)loaded (D)prospered

To avoid any public fears, reports of financial mismanagement need to be dealt __ quickly.

(A)to (B)with (C)about (D)in
<mHEHAEEE >




20. Mr. Larson announced that the construction work was expected to be in the early spring.
(A)completed (B)completion (C)completes (D)completing

Il. Cloze Test TEJjE=F — Choose the best answer for each blank =575 H— (B  FEE ZE

Are You a Stressed-Out Student?

* Sleep or nap: Some people are OK with three or four hours of sleep a night, but most people__21 . You should try to sleep
eight hours a night. If you can’t, then take a __22  in the afternoon. You may __23 in on the weekend, but you shouldn’t
stay in bed all day. Sleeping too long isn’t good, either.

* Eat and drink right: Students often gain weight because they eat a lot of __24  and also because they eat late at night. You
should also try to drink a liter of water a day — at least —and __25 _ soda.

* Stop and get away: Sometimes you have to stop what you’re doing. __ 26 . Turn off the TV and computer, walk around the
room, and breathe deeply. You should do this four or five times a day.

* Walk or bike: Walk as much as you can. Walking is the best way to __27 . Or get a bicycle, but remember that __ 28 a
bike can be dangerous. You should always wear a __29 _ and bright clothes. Never ride without them.

* Get __30__: Do you have gym nearby? You should use it. You don’t have to exercise every day, but you should do something
three times a week.

21. (A)is (B)are (©)isn’t (D)aren’t

22. (A)napkins (B)note (C)nest (D)nap

23. (A)sleep (B)jog (C)run (D)shop

24. (A)junk food (B)water (C)vegetables (D)jewels

25. (A)have (B)acquire (C)avoid (D)purchase
26. (A)Break your leg (B)Take a break (C)Break up (D)Break even
27. (A)stay in shape (B)stay awake (C)stay alive (D)stay attentive
28. (A)ride (B)sit (C)riding (D)sitting

29. (A)lamp (B)helmet (C)planner (D)receipt

30. (A)exercise (B)caught (C)paid (D)permission

Deadly Gas Explosion Rips Southern Taiwan Neighborhood

A downtown district of the southern Taiwanese city of Kaohsiung was ripped apart just before midnight Thursday by a
series of explosions__31  killed at least 24 people and injured hundreds more, state news agency CNA reported. The __ 32 |
which were triggered by underground gas leaks, tore a trench through main roads, _ 33  cars and trucks and sent flames
leaping into the air in the city's Qianzhen district. Witnesses said they saw vehicles flung into the air by the force of the
explosions -- one car was found on the roof __34  a three-story building. Zong-Han Li was driving when the explosion
happened directly in front of him, and his __35 _ caught the moment the gas ignited.

31. (A)who (B)that (C)where (D)whose
32. (A)beverages (B)blasts (C)bliss (D)bands
33. (A)overturned (B)overturning (C)overturns (D)overturn
34. (A)on (B)of (C)at (D)by

35. (A)front door (B)back seat (C)dashboard camera (D)seat belt

Scottish Voters Choose to Remain in United Kingdom

Scotland will remain part of the United Kingdom -- along with England, Wales and Northern Ireland -- following a historic

36 __ vote. A majority of voters rejected the possibility of Scotland breaking away and becoming an __37 _ nation. With 31

of 32 councils declared, the "No" campaign has won the referendum on Scottish independence. Scottish First Minister Alex

Salmond admitted defeat in Scotland's independence referendum Friday and __38  the rest of Scotland to do the same. In a

televised statement, he thanked Scotland "for 1.6 million votes for Scottish independence.” A turnout of 86% is one of the

highest __39  the democratic world for any such vote, he said. Voters in Scotland made their __40 _ Thursday -- remain part
of the United Kingdom or form their own independent nation. They chose to remain.

36. (A)referendum (B)reinforce (C)recitation (D)retreat
37. (A)independent (B)identical (C)indifferent (D)imperial
38. (A)utensil (B)upset (C)urged (D)urgent
39. (A)on (B)by (C)with (D)in

40. (A)choose (B)choosing (C)chosen (D)choice
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[(263.7 - 132) x 3.162]/0.6270 /={HIFEEZRVAERE AU EHE%A? (A1 (B)2 (O3 (D)4
83.28g Y4 (Li, atomic weight 6.94 amu) £/EH %/ D (EEFHTF? (A)S5.90 x 1025 (B)7.09 x 1021 (C)7.22 x 1024
(D)4.27 x 1022 {§

TNEI{ATE R ek R (Sulfurous acid) B & {L## (Lithium hydroxide) SZMERVIEREF-HSEF? (A)H2SO03(aq) +
2LiOH(aq) — 2 H2O(l) + LipSO3(aq) (B)H2S(aq) + 2 LiOH(aq) — 2 H2O(l) + LipS(aq) (C)HSO3(aq) +
LiOH(aq) — H20()+ LiSO3(aq) (D)HSO4(aq) +LiOH(aq) — H20(l)+ LiSO4(aq)

3NO2(g) + H2O(l) — 2 HNO3(aq) + NO(g) fKIELVIRIER T2/ Vet KA geEd 157.55 g Y HNO3?  fE%
5 BHERN N0y 2HTE. (5> T-8: HoO = 18.02 g/mol, HNO3 = 63.02 g/mol.) (A)38.08 ¢ H2O (B)43.41 ¢ H2O
(C)22.53 ¢ H2O  (D)10.90 g H2O

Br™, K", Rb" & T EHVNEIAHES By (AK" <Rb*<Br~ (B)Rb'<K'<Br~ (C)Rb"<Br” <K* (D)Br" <K'"<Rb"

Rb2S ~ K20 ~ LipO {ZEHREE (lattice energy) HI/NEIAHEY B (A)LipO < K20 < Rb2S  (B)Li2O < Rb2S < K20
(CO)Rb2S <K20 <Li20O (D)Rb2S <Li20 <K20

P~K-Cs {REEEE (electronegativity) FHAZE]NIFFIE (A)K>Cs>P (B)K>P>Cs (C)P>K>Cs (D)Cs>K>P

A a2 (A)P-F (B)C-Br (C)C-F  (D)C-I

@ o, .. '°(|.il°' .. y

I . ci_ | el o

:Cl—I—Cl: )Cl—I17 . N (o Wl [ 7 -

N U\ngl.: [ek -

ICls FYEREERE 514516 (Lewis structure) & (A) -“L -Gl (B) Ll ©c  -CL (D) ‘CI7 7 Ch
f£ CH3*l 1> C By =(EE Hf(formal charge) & (A)0 (B)1 (C)-1 (D)2

W X-A-X JEAH/NE RS » Hrp A R0 ET » XFRRHMEEF  SCI2 ~ CF4 ~ CS2 (A)CS2 < SClp < CF4
(B)SCI2 <CF4 <CS2 (C)CF4<CS2<S8CI2 (D)CS2 <CF4<SClp

C4Heg ELF 441 sigma §i# % pi §##? (A)9 sigma, 2 pi  (B)8 sigma, 0 pi  (C)6 sigma, 2 pi  (D)10 sigma, 0 pi
#K#%E VSEPR 841 » DI Br [R5l » BrF4-BE T i AR (electron-domain geometry) £ (A)/\IHIAGIE
(octahedral) (B)*‘FHEI=HAJ (trigonal planar) (C)IEPUEIFSH (tetrahedral) (D)=rg%E I (trigonal bipyramidal)

falf&E 53T EfER /7 (intermolecular force) &EZ KCl JFfER7KH? (A)hydrogen bonding (B)dipole-dipole forces
(C)dispersion forces (D)ion-dipole force

$EE B LIRS 00T (body-centered cubic structure) 245 @ RIS —(E R T-HIYBC(7EL (coordination number) £
(A4 B)12 (C)6 (D)8

620.70 ¢ 7, —fiZ (ethylene glycol » Co2HgO2, molar mass = 62.07 g/mol) &7~ 500.0g (/Kb » SHE R AEE B (Kr
— 1.86°C/m and Kp = 0.512°C/m.) (A)30.0°C (B)-37.2°C (C)8.32°C (D)-8.32°C

20°C Ff,EHEH LR 15.0%M % L#% (ammonium chloride) Z & fy 1.043 g/mL - Gt A AR AVE B IRE?
(NH4Cl t& 53.50 g/mol.) (A)3.92 (B)0.479 (C)2.93 (D)4.79

EvskE7A 1.0 x 10-5 M H30H (25°C) » 53t pOH {2 (A)3.00  (B)5.00 (C)10.00 (D)9.00

The compound CIF contains (A)polar covalent bonds with partial positive charges on the CIl atoms. (B)nonpolar
covalent bonds. (C)polar covalent bonds with partial positive charges on the F atoms. (D)ionic bonds.

<HHEHAHEHE>




20.

What is the hydronium ion concentration of a 0.0350 M hypochlorous acid (HCIO) solution with Kg = 3.5 x 10-8? The
equation for the dissociation of hypochlorous acid is: HOCI(aq) + H2O(l) = H30*(aq) + OCl-(aq)  (A)7.0 x 10-4 M
(B)3.5x10-5M (O)1.7x10-5M (D)1.4 x 104 M
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34.

35.

36.

37.

38.

39.

40.

NIIEHEEE RS (protein kinase) HYFIL » AEFHER? (A TR —EERERE B)r LU EE CERERIIE
Bz (C)n] DI H M & 5 E R ARG I (L (phosphorylation) (D)—Bi#GIZAEM: » &AKOELA BATEN:

¥ —ERHENERERERGE T 2MEENERE - 5 (A)gene cloning (B)gene recombination (C)gene
translocation (D)gene hybridization

EFRAEHEOEEEHIE T8 % (electron carrier) Ty 1 2 {HEE 115 » I (A)3 4 T E(BIEH (B)E&ERERR
HEER (OBAFARSHIIEE (D)EE T & EHRAEERAE

AR BN %40 (endomembrane system) A DL THRFEMVAEH DI gE Bl ix e € - MY —(ERE S A iR A
HAZ A (AWEHE (B)SALRES (O /NME (DYRIEkEs

AHREE AR 2R X T DAZE AR SR [EE A S HIEC+ - WIRZYORE A B A O RAVEE - HicFrvE SR
MR RE S 2400 —(E P& B E T2 (A)REL T RiTHA (B)JEE I A (C)JkE 1T AiflH (D)) 1T i
AR R SR AR R R B4R 18 - N YII—{ED77A A DAAERF AHRERE AR B - (EAHREE S 2 E? (AR
AHRERE B A PRSI ERRYEL G (B)YS IIAHREAEREEIRZAIELG] (C)M hNAHRE R K M E VB RIELE] (D) hn T BhiE
SR NI —TESE R A e o IR EEIR? (A)DNA YR #EL (B)DNA HYEEEEEH (CORNA HYEEE(ER (D)RNA
N S Bk F

BE> DNA EEHEAYRFIE - (15850 7 (A)H et HBEITE 3 Im (B)Era MYIEERRE (C)HBEA K DNA (D)
J> DNA 1 8l B (E $ERRi g & 2

AR AR TIPIRAE FER » H—(ERE BR AR (& I R Y ATP - 22 4t B O AR &1 ATP YFEEE? (A)#j&fEi—G3P  (B)G3P
— WAz (C)NEEE:— ZBaiiig A (D) ZERkNs A—Ei5ng

IHHR— B S RE & A E Y - BN ESEEEERAY? (A)a] LR ETTEREF SRR (B)EEE(E
FHE » a8 £ 22 ERS (ployribosome) [FIHF#EER[E]—{fk mRNA AYIRG (C)[E W #2517 BUALES (origin of
replication) (D) #! DNA B 0] DA{EHE BUEEEL T TEE o] (both direction) 2

EAYIZGE AR EIEAG ARy » B E R AEZREE? (A)AG<0  (B)AG=0 (C)AG>0 (D)A 81 C & r]
SRR YR (gene expression) ADASEAAEEFZ DR - H A —(E20 BR /2 AN R i LAV BRI BR - J5ResT
GBS - RIEAPBRAH A Z 083 TH? (A)DDNA BYEFIZE (B)DNA HYEEREAH (CORNA BYEEIER (RNA
processing) (D)RNA HY#EEE(E ]

S NYITREIE NS > F8%E—EX RNA 5[F (primer) {SGEEFH? (A)DNA HJ{E%! (B)DNA HYEEEE{FA (CORNA HyEH
s2EH (D)A 81 B HF%E

VIR EEE T R SCIEER (Calvin cycle) B » QIERIEER—IHBEEE — 70+ & bhik - R E#E T4
KAV RESEER - A RE#E 6 7 THYE&fE? (A6 (B)I12 (O)18 (D)36

AT (stem cell) #Y53{BRE T8 » 1T DAZE 4B SAEDNRE VA ARATAE? (A)RRAEER4HAE (B)EriEER4HHE (O
WA IR 4HAE. (D) A TERAHHE

BEZNAMALEHA (cell cycle) AIHEHIAZE » FEZ2 FIHRA—EMU A EAVERE 2 FHTec 22 (AR (B)4HIRE
(O4HERE (D)=

MNIEE R E A PR FEEIN AR - [FEUEAA (proto-oncogene) EAH[IMEELR (tumor suppressor gene) » 47 Bl|&% 4 (]
TS b hOvERERYE bR ? (A)FTBH - BERA (B)EEEA - 168 (OFTBH - 7B (D)BHEH - BERH

RATE RS SRR Mg 2BkE Rovyr Al HSN2 81 H5NS i3 B3ER S » s H 81 N REFHATEE?
(AWERAEAE B)WEZEEYE (COMEER (envelope) (D)FIfEE AR

A0 A — TR B U (prophage)? (AVEFBH (lysogenic cycle) (B ALEA
(Iytic cycle) (C)A BB WifdfFEz(Er g (D)A BB WiEH=T A g

AR A ERA HR BRI AN (checkpoint) » B] DU & 4HANE & T8 e GZ BB T/F » A RE#EAF] T —{EfEE: - H
A — (Bl AN (checkpoint) AYMRE - AILAFEAAAENE G2 HIAEAFI M H? (A)G1  (B)S (O)G2 (DM
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[z H- 28~ F-F28I e HE- B5PEH] TEHP (- ) E=

1 2 3 4 5 6 7 8 9 10
C C D A A B B D D B
11 12 13 14 15 16 17 18 19 20
A A D B C A A A B A
21 22 23 24 25 26 27 28 29 30
D D A A C B A C B A
31 32 33 34 35 36 37 38 39 40
B B A B C A A C D D
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2 3 4 5 6 7 5 g

1 10
C C A C A C C A D B
11 12 13 14 15 16 17 18 19 20
B A A D D B C D A B
21 22 23 24 25 26 27 28 29 30
B A C D B B A B A A
31 32 33 34 35 36 37 38 39 40
A B A D A B A A A C
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